SEENCET—7IV — S FE—Z - ILIEHRAB—
NG ROTARY High Performance NC Rotary Table —Side motor mounted, Vertical or Horizontal Usage-

TABLE . TMX160 « TMX200 » TMX250
TMX series Tincs - sz

SRETEYIRICU Y Sitgs217
High performance range with high rigidity for heavy cutting

@Sl K YRATIHID BT RE
High rigidity for heavy cutting

@=1EE  High accuracy

@IL7/\A FOT—RZARICKY. BETEHHETZ>TIC
U @ Y=t A DA N V)
Integrated air-hydraulic booster provides high clamping
torque (comparable to hydraulic) from a standard air supply

O HEY 5 TAXNRIESHEY T > Tk H\ IR AT AL
air-hydraulic booster or direct hydraulic clamping
options available

@O —4%)T a1 MEEATAE
Rotary joint options available

O@IEE BBENAIRE
Can be used vertically and horizontally

@ IMEHHEREFRT —I U S fEE AR P 8E
Rotary scale can be fitted to further increase accuracy
at additional axis specifications

*CEXFam CE correspondence

(pitagawa

TMX160

fEFAEH] Sample Application

AT—)VARYZ(P107109888) LEbE T RRIOMIERETY
Combine with tail stocks on P107 and 109 to suit machining of long work pieces.

AKITAGAWATZ D O TEDF v v I EBhETIRE
T—IR=IVT 147 EE0RTTHHTZEL
Only Kitagawa can offer this combination of NC Rotary Table and chuck



(ditagawa

TMX 160 BV %%

{IhnEk{EH% additional axis specifications
TMX 160 B * %3

F—IHFA4X THIAVES TF=IHFAX THIUBS
Table Size Design No. Table Size Design No.
TMX:160+200+250 TMX:160-200-250 i 5
THX: 160 -200 E—%#&% Motor type THX:160 -200 Sﬂzﬂﬁg‘i*fdﬁcaﬂon
25> 7 A= Clamping method 25> 7 A% Clamping method
11& Type B: ZEHE (W I7/\1 NOT—R%) 1HE Type B: ZEHE (REI7/\f FOT—2%)

GBSF Right-handed type: TMX  Air-Hydraulic(integrated air hydraulic booster) GBS Right-handed type: TMX Air-Hydraulic (integrated air hydraulic booster)
ERBF Left-handed type: THX  H: HE Hydraulic EBSF Left-handed type: THX  H : 3#E Hydraulic

M{L#% Specifications

B X Model TMX160 TMX200 TMX250
HBFE Right-handed type O O O
EBSF Left-handed type O O X
T—7)ViE#E Table dia (mm) ¢ 165 ¢$200 ¢$250
F—7)VE#7V4Z Centre hole dia (mm) ®50H7 ¢75H7 $105H7
F—7IVEE7VE Through hole dia (mm) ?40 $52 078
t>%/\1 | Centre height (mm) 120 140 180

ZE3HE /HE ZEiHE /Sl E ZoHE/SRE

492> 7 73 Clamping method

Air-Hydraulic/Hydraulic

Air-Hydraulic/Hydraulic

Air-Hydraulic/Hydraulic

45T MUY (Z=E 0.5MPaBs/#EE 3.5MPaks)

O—%2YJ 34k #7va> - P119sHR)
Rotary joint (as an option-P119 reference)

SHE/ZEEAR—b
Hydrauric/Pneumatic 4-port

Clamping torque (at pneumatic 0.5MPa/hydraulic 3.5MPa) (N-m) 450 600 1100
E—2EHE A F—+ Motor axis reduced inertia (kg-m2) 0.00012 0.00032 0.00056
H—RE—% (FANUCHAZDIZS) Servomotor (for FANUC specification) aiF 2/5000-B aiF 4/5000-B aiF 4/5000-B
WL Gear ratio 1/72 1/90 1/90

FANUC{E# (min-/E£—%3000min-1E5)

F—7) EsmEgE | FANUC specification(min-1/at motor 3000min-) 4.6 33 333
Max. rotation speed | M{=2 4% (min-1/E—%3000min-1i)

Msignal specification(min-'/at motor 3000min-1) 416 333 33.3
FFABT—24F—<+ Allowable work inertia (kg-m2) 0.51 1.00 1.95
Z|HH#EE Indexing accuracy (sec) 20 20 20
BIEE Repeatability (sec) 4 4 4
B2 E & Mass of product (kg) 56 71 101
FET—IVALY Y @FTvav-P1IsE)

Manual tail stock (as an option-P111 reference) TS160RN TS200RN TS250RN

T—IVAEV RV (73> - PIsBER) 33)5

Tail spindle (as an option.P115 reference) Note)s TSR121A MSR142A/TSR142A MSR181A/TSR181A
RJ40H16DO1 RJ40H20D03 RJ70H25D05

SME/Z=EAR—b
Hydrauric/Pneumatic 4-port

SHE/ZEE6R— b
Hydrauric/Pneumatic 6-port

EEE (kg)
RBEHEE Horizontal installation 160 200 250
Allowable mass of
workpiece ITEE (kg)
Vertical installation 80 100 125
4D @ 10 17 21
%{EHE_ FXL (N-m)
(F=TWo5V T8 ‘m 600 1100 1600
Allowable load
(When clamped to table)
PXE(Nm) = 450 600 1100
- N
SFAYIEI~ VY T (N-m) 240 310 730
Allowable cutting torque
) LEABERAA Y FIINCT —TILODTC- DM« LREBRL 22U —RICRELTWET,  2ZB0EY Y THEORAIE. T—/IL7 5V TRYL/A RNV ERELTOES, 358
EOSYTHE L/ RNV EREL TV E R A 0T BERICTTERTEL,  ANCT—7ILE TR EDBEN T —TIVRUF—RESBL TSV EEA,  50—4)

D34V bDOT—7)VEI VIR~ FERIETMX200. 25007 —7)VRIEIE. TMX1601E VRIS Y E T,

IECEYFHSETE,  7TARESIEHMESTRROEETTY.,

6.BUTE Y FHOMIMIC Lo TRIZD A, PNISDT—ILAE Y RILHER

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. In case of air-hydro. clamp specification, the solenoid valve for table clamp

is incorporated. 3. Solenoid valve is not incorporated in case of hydraulic clamp spec. Consequently, customer shall prepare it. 4. Neither cable nor hose is fitted between NC
rotary table and machine tool... 5. In the port side on a table surface jig side of a rotary joint, TMX200 or 250 is fixed to the rotary table side, and TMX160 to jig side. 6. Because a
mounting pitch varies with the machines, refer to the pitch of the table spindle size drawing on P115. 7. Each product mass is determined by a Kitagawa M signal spec.

D




N ROTARY T M X . TMX160 - TMX200 - TMX250
Serieés THX160 - THX200
B~F%E [{3hn%h{14%] Dimensions [additional axis specifications)
TMX160 (THX)
Rc3/8
VSV 7RBEREO CREMLARE)
Hydraulic port for clamp  (at hydraulic spec.)
Rel/4 05> 7 RZEMEO
é%ﬁtiaé’)ﬂf*) | EEO—2YY a1 NRIE
neumatic port for clamp o )
(on back side) 245 In mouftmg‘the standard rotary joint AR
(T71\A FOT—R24LEES) 145 100 7—7ILEE Hex bolt
15° (at spec. of air-hydraulic booster) 48 Table surface M16X60
ol e — ® 30
o ¥ o o g3 412 Eil
] © 0 ~ — & — —
o \ © I = i
3 | o 8 S W — il T
g N i L] [21] 16/ [23 ¢
o | 32 20 !
o ‘* © * R | # 144 6-M6 Tast
3-M10 0 © & 1 1 & E
,HLW S0 19]|° of 130
104 | 102 140 N
206 225 F—IIVEBR F—IITH 95 7HE
431 Through Hole Diameter Table T-slot Grooves Clamping Devices
TMX200 (THX)
Rc3/8
VoY TRBEREO CREMLARES)
Hydraulic port for clamp  (at hydraulic spec.)
Re1/4 ¥ 5> 7RZEMEO
(EEICHIET) B0 — 21T 34 MRS
Pneumatic port for clamp 282 In mounting the standard rotary joint
(on back side) 176 106 N
(T7)\A ROT—AR {8 F—JIVLE AARVE
(at spec. of air-hydraulic booster) 47, Table surface Hex bolt
| T — M16X60
— M6 @ 30
g ® | 3ls
o ! 12
- o s I Eﬁj - 3 £ g8l
g g 9 e Jeaa= il :
S g 2179 ] N 1 o) ]
g 4 21 16] 123 I
. K 1y 7 20\ e [~
] i -
| 175 — eyl
ol S 1o & L
171 @ 30
243
487 T=IVEEN T—IITE IS 78RE
Through Hole Diameter Table T-slot Grooves Clamping Devices
TMX250
Rc3/8
oSV 7RBEREO CHREARES)
Hydraulic port for clamp  (at hydraulic spec.)
Rel/4 5V TRZEEMHEO O — &) 540 NI
(REIHUET) I:mountin t/hzlsta/ndard rotary joint NGk
Pneumatic port for clamp 317 9 Y Hex bolt
(on back side) >t M16X70
. (TTI\A F AT —R24LHRES) 210 107 17';ble surface . 45
3-M12 15 (at spec. of air-hydraulic booster) 69  EEE— ;
s T | ~
N ¥ 2 R5 1 Ed: |
© N~ | _ s ’1_2'““ 1]
Nan 3 5| = 14 | 24 7}
Y ST A B
3 | 39 20| N\gms o iy
7 209 g 430
@ s 13 & o L _
A o0 T IVEENR T—IITE 95 T8RE
4 Through Hole Diameter Table T-slot Grooves Clamping Devices
296 240
540
X BRI AISFANUCHAER T, It E— 2R DIBE TEDN RGBT EHHY £, TMXISESFAER THXIZEBFERTY,
*%The above dimensions are the same as FANUC specifications.Those dimensions may vary from motor to motor that is mounted.
TMXiis a right hand spec. and THX is a left hand spec.




]
FE— 2 DI KV AD ED BAEMABUE T, Bltag awa

*The dimensions may vary from motor to motor that is mounted.

W~FER [M{E5114%] Dimensions [M signal specifications]

TMX160 (THX)
Rc1/4 05> 7 RZEEHHGO
Pneumatic port for clamp
(I7N\A FOT—R A1)
(at spec. of air-hydraulic booster)
Rc3/8 B 1) g~ .
5y T BHERED BEOSVIAYPINE
Fydraulic port for clamp In mounting the standard rotary joint ARV
5 F—7)VLE Hex bolt
3-M10 CHEHRE) 145 48 z
(at hydraulic spec.) | Table surface © M16X60
7 ~ 2 12, 30
. S 2 5la
[Te}
™ oo = 8
- 45 o o] L 17T 21 I -
Mo 2145 he = 21| 16| |23 =
I 32 20 6-M6 ‘
" L - iy 144 |
©f o =) ASEH
~Jjo EL‘“‘ @ Iso
140 Y
139 T—IIVEENR T—JITiE ISV TRE
575 Through Hole Diameter Table T-slot Grooves Clamping Devices
TMX200 (THX)
Rc1/4 25> 7TRZEREMEO
Pneumatic port for clamp
(I7\A R BT —R2{1HES)
Rc3/8 (at spec. of air-hydraulic booster)
ISy 7RBERRO
3-M10 Hydraulic port for clamp
CHEMRRE) F—7IVEE R
15° (at hydraulic spec.) Table surface }/-I\e%g—gll; I~
= 3-M6 ® M16X60
s 2 K 12 .
= e 3 _ S

s f = In= ol 18l

"l g £7% 37 20 = i
3 6-M6 L21] 16[ 123 71

v 175 ‘
of R
7= V&R F—FITH ol Is0
Through Hole Diameter Table T-slot Grooves &
155
45788
57.5 Clamping Devices
EEO—21) D31 FEUTEE
In mounting the standard rotary joint
TMX250
Rc3/8 _ 12
45 FEREAEO Re1/4 & 5> 7Rz E T *?—"
Hydraulic port for clamp Pneumatic port for clamp 1EEO—21) D34 NSRS “T‘
A (T7\A FET—R2{L1ES) | ing the standard o =
((a?k’?zjirﬁali)s ec) (at spec. of air-hydraulic booster) " mOLEmngt € standardrotary joint 2
Y pec. 15 210 F—7IVEmE
7 Table surface 21
3-M12 Jablesurtace L -
| 3-M6 © T—7IVTiE
? 5 Table T-slot Grooves
S ~
© . S s — ANARIVE
Il pay Hex bolt
el I B B [}

g g G | A §M16X7O r(%
° @) M - [isE LT,
e »#39 20| \6-M8 Q

- 5+ I
F—7 )V EER -
205 Through Hole Diameter 14| |24] =
1
4 296 154 | Eg
454 57 wl
© 30
[\
45788
Clamping Devices
XTMXIFERSF k. THXIEEBFAER T,
%TMX is a right hand spec. and THX is a left hand spec.






